PURCHASE DIVISION Advice for approval for credit to supplier

Date:			24	9/2/	· .	Prepare	d by:		SO	WMYA		
PO/WO no	10714 2419120											
Supplier N	ame		SS	Iln.		PO/WO Project Pull Up Bill Da	amoun	t		7,522		
Firm/Comp	oany	Mod	i orea	ulty	Malla	Project	12			GMR.		
Sł. No.		Bill No.		T		Bill Da	te		Bill	amount		
1. 3414 25/9/20. 7,522												
2.								0		,		
3.												
4												
Amount A	– Bills to	tal(Excludi	ng Transp	ort & F	Iamali Ch	narges):				7,522		
Sl. No.	DC No			DC. D	ate		MRN	No.	DC	matches MRN		
- 1.		11350			25	9/20	83	425	ZY	es 🗆 No		
2.						•			□ Y	es 🗆 No		
3.									□ Yes □ No			
4.												
Amount B –Other Credits:									←			
Amount C	-Other D	ebits:			х				_			
Amount D	(D=A+B-	·C) – Amou	int to be o	redited	to the su	pplier:				7,522		
Amount E	- PO / W	O value:								7,522		
Amount F	– Differer	nce (A – E)	•							1/-		
Quantity re	eceived as	per PO /W	0			Yes 🗆 Ex	cess rec	ceived Short r	eceive	ed Other (explain	ained below)	
Is differen	ce between	n PO / Bill	acceptabl	e?	59	□ Yes □ No	(expla	ned below)				
Excess / sh	ort materi	al received				□ Approve	1 – with	in acceptable li	mits 🗆	No (explained l	pelow)	
Close PO	W?O					∕ Yes □ No	o – wait	for balance ma	terial	□ No (explained	below)	
Advance p	Advance paid / PDC given (deduct when paying) □ Yes - Rs. /- □ No											
Payment -due date 3.10.2020												
Remarks:						L						
					1)				2		
Approve		urchase	Purch		Procur	ement VED	MD	Account		Accountant	Accounts	
by	Λ	Officer	Mana	iger	Man			receiver bill	of	*	Manager	
Sign: Date	- 3	owije	,	200	U /	OCT 2020						
Date	\	26/9/2	1		MINI	SH PARIK	H					

Notes: 1. In case amount to be credited to supplied that the bits or a first or a first

TAXINVOICE

ORIGINAL INVOICE

Summit Sales LLP

#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

 $Email: purchase \widehat{@} mod \widehat{i} properties.com$

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:25-09-2020

ver Bridge, HSN/SAC		Invoice No. Invoice Date. PO No. PO Date. Req ID Req Date	13414 25-09-202 70714 24-09-202 60148		
		PO No. PO Date. Req ID	70714 24-09-202 60148		
		PO Date. Req ID	24-09-202 60148	0	
		Req ID	60148		
HSN/SAC					
HSN/SAC		Req Date	23-09-202	0	
HSN/SAC		Loc Req No	68436		
HSN/SAC	GSTIN: 36AAEFM1459R1ZP				
	Qty	Rate	Gross	Tax%	Tax Amt 499.50
65061090	15	185.00	2,775.00	10	477.50
				10	216.00
6506	20	60.00	1,200.00	18	216.00
				1	122.00
6506	40	60.00	2,400.00	18	432.00
					•
-					
Total Tax	able Amo	unt	6,375.0		1,147.5
Total Invo	oice Amou	ınt		7,522.	50
	6506 Total Tax Total Invo	Total Taxable Amo		6506 40 60.00 2,400.00	6506 40 60.00 2,400.00 18

Subject to Hyderabad Jurisdiction



for Summit Sales L

Authorised signatory

Purchase Order

Page(s) 1 Of 1

24-09-2020 4:51:35 PM

21.09.20 12:59:15

From Company: **Modi Reality Mallapur LLP**

5-4-187/3&3, II nd floor, Soham Mansion, MG Road, Secunderabad.

G S T No.: 36AAEFM1459R1ZP

Supplier Details				
Summit Sales LLP	Doc No	70714	68436	
5-4-187/3&4,II nd floor,Soh	Doc Date	24-09-2020		
	Quote No	Nil		
GSTIN 36ACQFS2044C1Z7	,	Quote Date	24-09-202	20
040-66335551	9618244433	SupplyType	Supply	

Kind Attn: Hamendra, Prabhakar

Purchase Order for the Supply of following Items.

Item Name	Qty	Rate	Dis%	GST	Amount
1 9545 - Tools - Helmet - other - nos white	15.00	185.00	0.00	18.00	3,274.50
2 9592 - Tools - Labour helmet female - NA - nos	20.00	60.00	0.00	18.00	1,416.00
3 9593 - Tools - Labour helmet male - NA - Nos	40.00	60.00	0.00	18.00	2,832.00
		Total Or	der Valu	e	7,522.50

Rupees: Seven Inousand Five Hundred I wenty I wo and Palse Fifty Only.

	Terms	and	Condi	tions :-
--	-------	-----	-------	----------

Specification / Brand As per details given in the quotation.

Payment Terms

After Delivery & Production of bill

Tax

All taxes included in above price.

Delivery Date

Next Day.

Delivery Location

Gulmohar Residency

Survey No 19, Mallapur, Hyderabad. NExt to NFC Railway Over Bridge

Phone. Contact: Security _____, Admin 9502211011

Penality For Delay

Nil

Transportation Cost

Transport cost shall be borne by us

Warranty

Nil

Advance Paid

Nil

Other Terms

We reserve the right to reject items not conforming to quality and specifications. Above order for Site use purpose.

Completion Date

Nil

Measurment

Nil Nil

Security Remarks

For	Modi	Reality	Mall	apur	LLP
-----	------	---------	------	------	-----

Authorised Signatory

Accepted the above Terms And Conditions

For Summit Sales LLP

Name :	V25	09	2020

Name:	

Date : __/__/___

Requisition Form

				Requisit	IOH FOITH				
Compa	ompany Name: MODI REALTY MALLAI				Date: 23.09.20				
Site &	Site & Phase : GULMOHAR RESIDENCE			CY	Time:		10.40		
Supplie	er				Req. No.		68436		
Materia	al required befor	re date:	26.09.202	20	ID No.		60148		
Ņo		Description		Size	Quantity	Units	Inward No	Date	
1.	Visitor Helm	ets		STD	15	No's			
2.	Male Helmets			std	40	No's			
3.	Female Helmets			std	20	No's			
4.	Clamshell Cards			std	50	No's			
5.					1				
6.					APPROVE				
7.	1				X .	1			
8.					2 3 SEP 202				
9.					MINISH PAR	IKH			
10.					MANAGER PROCUR	TMLIVI			
Remar	ks: For VISITO	RS AND LABO	URS USE I	PURPOSE AT	SITE VISIT.				
Prepar	ed By	RAM PRASAI	D		Approved by				
Sign.&	Date	23.09.2020			Sign. & Date				
-									

Note:

DELIVERY CHALLAN

Summit Sales LLP



#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:25-09-2020

Customer Details	DC No.	11350	
Modi Reality Mallapur LLP	DC Date.	25-09-2020	
Sy No, 19, Mallapur, Hyderabad, Next to NFC Railway Over Bridge,	PO No.	70714	
	PO Date.	24-09-2020	
	Req ID	60148	
GSTIN: 36AAEFM1459R1ZP	Req Date	23-09-2020	
ODITIV. BONGER MITABORIER	Loc Req No	68436	
Description of Goods		HSN/SAC	Qty
1 9545 - Tools - Helmet - other - nos		65061090	15
2 9592 - Tools - Labour helmet female - NA - nos		6506	20
3 9593 - Tools - Labour helmet male - NA - Nos		6506	40
4			
5			
6			
7			
8			
9			
10			
11			
12	2		
13	e		
14			
15			
	per demonstrative de formancial tra haceas de describer de la productiva de describer de describer de describe		ACONTO TO A STATE OF THE STATE
16			
17			
18			
19			
20			
21			
22			
23			
24			
25			
26			
27 INWARD	7		
28 INVARD			
29 MODI REALTY MALLAPUR LLF			
30 Ward No 1082 Dt 250	110		

Subject to Hyderabad Jurisdiction



Received By.....Sign.....

for Summit Sales LIX

Authorised signatory

Summit Sales LLP



#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:25-09-2020

Customer De	etails				Invoice No.	13414		
The second second	Mallapur LLP				Invoice Date.	25-09-20	20	
Sy No, 19, Ma	allapur, Hyderabad, Next	to NFC Railway	Over Bridge,		PO No.	70714		
					PO Date.	24-09-20	20	
					Req ID	60148		
CICITINI . 2	CA A FEN (1450D 17D				Req Date	23-09-20	20	
GSTIN . 30	6AAEFM1459R1ZP				Loc Req No	68436		
	Description of Goo	ods	HSN/SAC	Qty	Rate	Gross	Tax%	Tax Amt
1 9545 - To	ols - Helmet - other - nos	\$	65061090	15	185.00	2,775.00	18	499.50
white								
2 9592 - To	ools - Labour helmet fema	ale - NA - nos	6506	20	60.00	1,200.00	18	216.00
3 9593 - To	ools - Labour helmet male	- NA - Nos	6506	40	60.00	2,400.00	18	432.00
1 3030 10								
4		2						
		,					1	-
5								
6								
7								
8	~							
9								
10								
							-	
11			-					
	•	INWAR						
12	MODI	REALTY MALL	APUR LLP					
	101CD1	10820	2519110		•			
13	Ward N		1					
	- MRN 1	J)t					
14		Salle	Sign	20				
	Recei	ved By						1
15								
IGST	CGST	SGST	Total Taxable	Amount		6,375.00		1,147.50
	573.75	573.75	Total Invoice	Amount			7,522.50	
Rupees: Se	ven Thousand Five H	undred Twenty	Two and Paise F	ifty Onl	у.		27	
		· · · · · · · · · · · · · · · · · · ·					X	

for Summit Sales LL

Subject to Hyderabad Jurisdiction

Authorised signatory